Advanced Algebra
Chapter 3 Test Review

l. y=3x"-6x+4
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2. y=2(x=3)x=17)
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Opens: L,{P
Axis of Symmetry: X = |

Vertex: ( l, I)
Y-intercept: ( (_9’ H)
Min or Max: Mia/
Max/Min Value: Y= |
Domain: fH{ RAﬁ{S

Range: \/ 2|
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3. y=—l(x+2)2+1
2 -A'

Opens: (P

Axis of Symmetry: X =5
Vertex: (5 ) -?)
X-intercepts: (’3 ,0) & (7 ) 0)
Y-intercept: (O | ‘1’).)

Min or Max: MW ¢n/

Max/Min Value: \/= - ¢
Domain: Hil Reels

Range: Y > ¢

Opens: Dgun/

Axis of Symmetry: X = -2
Vertex: (’ 3—, l)
Y-intercept: (O,’gb)

Min or Max: Moy
Max/Min Value: Y Pl ,
Domain: fH[ PReal r;
Range: y £ |




3. Converty=2(x-3)(x-7) to standard form. SHOW WORK

\ = W-20x + U

4. The equation h = 0.019 s” gives the height /i (in feet) of the largest ocean waves when the wind speed is in
knots. Find the wind speed needed to generate 18 foot waves. SHOW WORK
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5. Simplify. SHOW WORK

a. /175 b. V550 ¢ - 4 —
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6. Find the Discriminant and describe the types of solutions for: 2x* -2x+4=0

Discriminant: 2 8

Number of real roots: () (e} rOO"-S

7. Sketch a graph that is in the form y=ax®+bx+c¢ witha Discriminant =0 and a <0.
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Explain your sketch: D = O M tawss , ﬁml i 00"’ ( I X—‘unlucw})
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8. Solve the following in simplified radical form if necessary (SHOW WORK):

a) 3x°—-10=50 b) 5x(x +2000) =0
ol —-2000

X:: igd—g X O) 2

c) %2—3=8 d) x**+6x-16=0

X v X:—%)D‘

e) x*—6x+4=0 f 2(x-3)2+4=166
X= 3 i\B Xz ]::1} ~b
X>34#5 ) 3-Vs5

g) 3x*-x-2=0 h) 152 +6=5x+6

X=] ~2 X= 0 1
/3 ) 3



9. The dimensions of the old stage at the concert hall were 30 feet wide and 15 feet deep. The new
stage has a total area of 1000 square feet. The dimensions of the new stage were created by adding
the same distance “x” to the width and the depth of the old stage dimensions.
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a. Draw a picture to ,@fresent the problem. Write an equation to represent the problem.

) L s (300 = oo

Jo
b. What is the value of “x"? Find the new stage dimensions.

X2 /0 New Dimenspoas - 15 et b}’ Yo Lt

10. The path of a jump of a dolphin is modeled by the function y=-0.18x(x—10), where xis the
horizontal distance (in feet) and y is the height (in feet) above the water of the dolphin.

a. How far does the dolphin jump horizontally?
Explain why your answer seems reasonable
based on the equation and the situation.

|0 faut

b. What is the dolphin’s maximum height
above the water? (Show your work.)

\ 1.5 Leet

Height above water (f)

Horizontal Dislance (ft)

11. The height, h (in feet), of a lobbed tennis ball t seconds after it is hit is modeled by the
equation h=—-16¢>+47t+3.

a. How high off the ground is the ball when it is hit?
3 Pent
b. What is the maximum height the ball reaches? At what time does that happen?

37'5-&&4‘ at [,L5 Seconds

c. When does the ball hit the ground?
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